
Table 23: World

Var X Var Y R∗
n(X, Y ) p-value Conditional set

1 2 0.04219 0.0003 (’3’, ’4’, ’6’, ’7’, ’8’, ’9’, ’11’, ’12’, ’13’, ’14’, ’15’, ’16’, ’17’, ’T’)
1 3 0.03376 0.0007 (’2’, ’4’, ’7’, ’8’, ’9’, ’11’, ’12’, ’13’, ’14’, ’15’, ’16’, ’17’, ’T’)
1 4 0.06237 0.0001 (’2’, ’3’, ’5’, ’7’, ’8’, ’9’, ’11’, ’12’, ’13’, ’14’, ’16’, ’17’, ’T’)
1 5 0.01703 0.0304 (’2’, ’4’, ’7’, ’8’, ’11’, ’13’, ’14’, ’16’, ’17’, ’T’)
1 6 0.01 0.10999 (’2’, ’4’, ’7’, ’8’, ’9’, ’11’, ’13’, ’14’, ’16’, ’17’, ’T’)
1 7 0.03899 0.0004 (’2’, ’3’, ’4’, ’6’, ’8’, ’9’, ’11’, ’12’, ’13’, ’14’, ’15’, ’16’, ’17’, ’T’)
1 8 0.13214 0.0001 (’2’, ’4’, ’5’, ’7’, ’9’, ’11’, ’12’, ’13’, ’14’, ’16’, ’17’, ’T’)
1 9 0.04561 0.0002 (’2’, ’3’, ’4’, ’6’, ’7’, ’8’, ’11’, ’12’, ’13’, ’14’, ’15’, ’16’, ’17’, ’T’)
1 10 0.0 0.45205 (’2’, ’3’, ’8’, ’12’, ’14’, ’15’, ’17’, ’T’)
1 11 0.06686 0.0001 (’2’, ’3’, ’4’, ’7’, ’8’, ’9’, ’10’, ’12’, ’13’, ’14’, ’16’, ’17’, ’T’)
1 12 0.02588 0.0049 (’2’, ’3’, ’5’, ’7’, ’8’, ’9’, ’11’, ’14’, ’16’, ’17’, ’T’)
1 13 0.03987 0.0008 (’2’, ’7’, ’8’, ’9’, ’11’, ’12’, ’14’, ’15’, ’17’, ’T’)
1 14 0.02757 0.0047 (’2’, ’3’, ’4’, ’5’, ’7’, ’8’, ’9’, ’11’, ’12’, ’13’, ’15’, ’16’, ’17’, ’T’)
1 15 0.0 0.42876 (’5’, ’6’, ’7’, ’8’, ’9’, ’10’, ’11’, ’12’, ’14’, ’16’)
1 16 0.04025 0.0004 (’2’, ’3’, ’4’, ’5’, ’6’, ’7’, ’8’, ’9’, ’11’, ’12’, ’13’, ’14’, ’15’, ’17’, ’T’)
1 17 0.11463 0.0001 (’2’, ’3’, ’4’, ’7’, ’8’, ’9’, ’10’, ’11’, ’12’, ’13’, ’14’, ’16’, ’T’)
1 T 0.0469 0.0001 (’2’, ’3’, ’4’, ’7’, ’8’, ’9’, ’11’, ’12’, ’13’, ’14’, ’15’, ’16’, ’17’)
2 3 0.03209 0.0008 (’1’, ’4’, ’7’, ’9’, ’11’, ’12’, ’14’, ’15’, ’16’, ’17’, ’T’)
2 4 0.07197 0.0001 (’1’, ’3’, ’5’, ’6’, ’7’, ’8’, ’9’, ’11’, ’12’, ’13’, ’14’, ’15’, ’16’, ’17’, ’T’)
2 5 0.00316 0.32687 (’1’, ’3’, ’4’, ’7’, ’8’, ’9’, ’13’, ’14’, ’15’, ’16’, ’17’, ’T’)
2 6 0.10536 0.0001 (’7’,)
2 7 0.21464 0.0001 (’1’, ’3’, ’6’, ’9’, ’14’, ’15’, ’16’, ’17’, ’T’)
2 8 0.06237 0.0001 (’1’, ’4’, ’5’, ’6’, ’7’, ’9’, ’11’, ’12’, ’13’, ’14’, ’16’, ’17’, ’T’)
2 9 0.08944 0.0001 (’7’, ’T’)
2 10 0.02145 0.012 (’7’, ’9’, ’17’, ’T’)
2 11 0.01643 0.0314 (’1’, ’3’, ’4’, ’6’, ’7’, ’9’, ’10’, ’12’, ’14’, ’16’, ’17’, ’T’)
2 12 0.01643 0.0305 (’1’, ’3’, ’7’, ’9’, ’11’, ’15’, ’16’, ’17’, ’T’)
2 13 0.0 0.46595 (’3’, ’5’, ’6’, ’7’, ’9’, ’14’, ’15’, ’16’, ’17’)
2 14 0.04701 0.0003 (’1’, ’4’, ’5’, ’7’, ’9’, ’11’, ’15’, ’16’, ’17’, ’T’)
2 15 0.06964 0.0001 (’3’, ’7’, ’9’, ’14’, ’16’, ’T’)
2 16 0.02683 0.0036 (’1’, ’3’, ’4’, ’5’, ’6’, ’7’, ’9’, ’11’, ’12’, ’14’, ’15’, ’17’, ’T’)
2 17 0.12798 0.0001 (’1’, ’3’, ’4’, ’6’, ’7’, ’8’, ’9’, ’10’, ’11’, ’12’, ’13’, ’14’, ’15’, ’16’, ’T’)
2 T 0.05263 0.0001 (’1’, ’3’, ’6’, ’7’, ’9’, ’11’, ’12’, ’13’, ’14’, ’15’, ’16’, ’17’)
3 4 0.07635 0.0001 (’1’, ’2’, ’5’, ’7’, ’9’, ’11’, ’12’, ’14’, ’15’, ’16’, ’17’, ’T’)
3 5 0.00316 0.36216 (’1’, ’2’, ’4’, ’7’, ’8’, ’11’, ’12’, ’14’, ’15’, ’16’, ’T’)
3 6 0.0 0.47135 (’1’, ’2’, ’4’, ’5’, ’7’, ’9’, ’10’, ’11’, ’13’, ’15’, ’17’)
3 7 0.01643 0.0312 (’1’, ’2’, ’4’, ’9’, ’11’, ’12’, ’14’, ’15’, ’16’, ’17’, ’T’)
3 8 0.01 0.11879 (’1’, ’2’, ’4’, ’5’, ’7’, ’11’, ’12’, ’14’, ’15’, ’16’, ’17’, ’T’)
3 9 0.01225 0.06939 (’1’, ’2’, ’4’, ’7’, ’11’, ’12’, ’14’, ’15’, ’16’, ’17’, ’T’)
3 10 0.0 0.45055 (’2’, ’7’, ’11’, ’15’, ’16’, ’17’, ’T’)
3 11 0.08608 0.0001 (’T’,)
3 12 0.03435 0.0005 (’1’, ’2’, ’4’, ’7’, ’9’, ’10’, ’11’, ’15’, ’16’, ’17’, ’T’)
3 13 0.0 0.46965 (’1’, ’2’, ’6’, ’8’, ’12’, ’14’, ’T’)
3 14 0.01265 0.07319 (’1’, ’2’, ’4’, ’5’, ’7’, ’9’, ’11’, ’12’, ’15’, ’16’, ’17’, ’T’)
3 15 0.05109 0.0001 (’1’, ’2’, ’7’, ’9’, ’10’, ’11’, ’12’, ’14’, ’16’, ’T’)
3 16 0.01949 0.0151 (’1’, ’2’, ’4’, ’7’, ’9’, ’11’, ’12’, ’14’, ’15’, ’17’, ’T’)
3 17 0.05 0.0001 (’1’, ’2’, ’4’, ’7’, ’8’, ’9’, ’10’, ’11’, ’12’, ’14’, ’15’, ’16’, ’T’)
3 T 0.13398 0.0001 (’1’, ’2’, ’4’, ’7’, ’9’, ’11’, ’12’, ’13’, ’15’, ’16’, ’17’)
4 5 0.04858 0.0001 (’1’, ’2’, ’3’, ’7’, ’8’, ’11’, ’14’, ’16’, ’T’)
4 6 0.03975 0.0002 (’1’, ’2’, ’3’, ’5’, ’7’, ’9’, ’11’, ’16’, ’17’, ’T’)
4 7 0.06473 0.0001 (’1’, ’2’, ’3’, ’5’, ’6’, ’8’, ’9’, ’11’, ’13’, ’14’, ’15’, ’16’, ’17’, ’T’)
4 8 0.09192 0.0001 (’1’, ’2’, ’3’, ’5’, ’7’, ’9’, ’11’, ’13’, ’14’, ’16’, ’17’, ’T’)
4 9 0.05967 0.0001 (’1’, ’2’, ’3’, ’5’, ’6’, ’7’, ’8’, ’11’, ’12’, ’13’, ’14’, ’15’, ’16’, ’17’, ’T’)
4 10 0.0 0.47535 (’1’, ’2’, ’3’, ’5’, ’8’, ’11’, ’14’, ’16’, ’17’)
4 11 0.05648 0.0001 (’1’, ’2’, ’3’, ’5’, ’7’, ’9’, ’12’, ’14’, ’16’, ’17’, ’T’)
4 12 0.01378 0.0486 (’1’, ’2’, ’3’, ’5’, ’7’, ’9’, ’11’, ’16’, ’17’, ’T’)
4 13 0.00316 0.34167 (’1’, ’2’, ’3’, ’5’, ’6’, ’7’, ’8’, ’9’, ’11’, ’12’, ’14’, ’15’, ’17’, ’T’)
4 14 0.0355 0.0008 (’1’, ’2’, ’3’, ’5’, ’7’, ’9’, ’11’, ’15’, ’16’, ’17’, ’T’)
4 15 0.00316 0.28837 (’1’, ’2’, ’3’, ’5’, ’7’, ’9’, ’14’, ’16’, ’T’)
4 16 0.02915 0.0017 (’1’, ’2’, ’3’, ’5’, ’6’, ’7’, ’9’, ’11’, ’12’, ’14’, ’17’, ’T’)
4 17 0.07423 0.0001 (’1’, ’2’, ’3’, ’5’, ’7’, ’8’, ’9’, ’10’, ’11’, ’12’, ’13’, ’14’, ’16’, ’T’)
4 T 0.0272 0.0021 (’1’, ’2’, ’3’, ’5’, ’7’, ’9’, ’11’, ’12’, ’13’, ’14’, ’15’, ’16’, ’17’)
5 6 0.0 0.45885 (’1’, ’3’, ’10’, ’11’, ’13’, ’17’, ’T’)
5 7 0.0 0.46245 (’2’, ’3’, ’8’, ’15’, ’16’, ’17’, ’T’)
5 8 0.11397 0.0001 (’1’, ’2’, ’4’, ’7’, ’11’, ’13’, ’14’, ’16’, ’17’, ’T’)
5 9 0.0 0.46685 (’1’, ’6’, ’8’, ’10’, ’13’, ’14’, ’15’)
5 10 0.0 0.44936 (’2’, ’3’, ’7’, ’12’, ’14’, ’15’, ’16’)
5 11 0.0 0.42446 (’1’, ’2’, ’3’, ’4’, ’7’, ’8’, ’12’, ’13’, ’14’, ’16’, ’T’)
5 12 0.00548 0.22698 (’1’, ’2’, ’3’, ’4’, ’8’, ’9’, ’11’, ’14’, ’16’, ’17’, ’T’)
5 13 0.0 0.44396 (’1’, ’4’, ’6’, ’9’, ’12’, ’14’, ’16’, ’T’)
5 14 0.01844 0.0242 (’1’, ’2’, ’4’, ’7’, ’8’, ’9’, ’11’, ’13’, ’15’, ’16’, ’T’)
5 15 0.0 0.42516 (’9’, ’11’, ’14’, ’17’)
5 16 0.00447 0.27127 (’1’, ’2’, ’3’, ’4’, ’7’, ’8’, ’9’, ’11’, ’12’, ’14’, ’T’)
5 17 0.0 0.41586 (’1’, ’2’, ’4’, ’7’, ’8’, ’9’, ’10’, ’11’, ’12’, ’13’, ’14’, ’16’, ’T’)
5 T 0.0 0.46505 (’1’, ’4’, ’7’, ’8’, ’14’, ’15’)
6 7 0.14053 0.0001 (’1’, ’2’, ’9’, ’10’, ’16’, ’17’, ’T’)
6 8 0.0255 0.0048 (’1’, ’2’, ’5’, ’7’, ’9’, ’11’, ’16’, ’17’, ’T’)
6 9 0.06261 0.0001 (’2’, ’7’)
6 10 0.02236 0.0148 (’2’, ’7’, ’9’, ’16’, ’17’)
6 11 0.01612 0.037 (’1’, ’2’, ’3’, ’4’, ’7’, ’9’, ’10’, ’12’, ’14’, ’16’, ’17’, ’T’)
6 12 0.0 0.45785 (’1’, ’3’, ’7’, ’9’, ’13’, ’14’, ’15’, ’17’)
6 13 0.00707 0.16138 (’2’, ’7’, ’T’)
6 14 0.00316 0.28887 (’1’, ’2’, ’7’, ’9’, ’11’, ’16’, ’T’)
6 15 0.0 0.33117 (’2’, ’7’, ’T’)
6 16 0.04231 0.0005 (’2’, ’7’, ’9’, ’11’, ’T’)
6 17 0.0497 0.0001 (’1’, ’2’, ’7’, ’10’, ’T’)
6 T 0.02588 0.0075 (’2’, ’3’, ’7’, ’9’, ’11’, ’13’, ’15’, ’16’, ’17’)
7 8 0.08944 0.0001 (’1’, ’2’, ’5’, ’9’, ’14’, ’16’, ’17’, ’T’)
7 9 0.29833 0.0001 (’1’, ’2’, ’4’, ’6’, ’10’, ’11’, ’12’, ’13’, ’14’, ’15’, ’16’, ’17’, ’T’)
7 10 0.10872 0.0001 (’2’, ’9’, ’17’, ’T’)
7 11 0.01549 0.0378 (’2’, ’3’, ’9’, ’10’, ’12’, ’14’, ’16’, ’17’, ’T’)
7 12 0.00837 0.14879 (’1’, ’2’, ’9’, ’11’, ’15’, ’16’, ’17’, ’T’)
7 13 0.0679 0.0001 (’2’, ’6’, ’9’, ’12’, ’14’, ’15’, ’17’, ’T’)
7 14 0.07752 0.0001 (’1’, ’2’, ’5’, ’9’, ’11’, ’15’, ’16’, ’17’, ’T’)
7 15 0.09338 0.0001 (’2’, ’9’, ’10’, ’13’, ’14’, ’16’, ’T’)
7 16 0.06411 0.0001 (’1’, ’2’, ’3’, ’4’, ’6’, ’9’, ’11’, ’12’, ’14’, ’15’, ’17’, ’T’)
7 17 0.24597 0.0001 (’1’, ’2’, ’3’, ’4’, ’6’, ’8’, ’9’, ’10’, ’11’, ’12’, ’13’, ’14’, ’15’, ’16’, ’T’)
7 T 0.08724 0.0001 (’2’, ’3’, ’9’, ’11’, ’13’, ’14’, ’15’, ’16’, ’17’)
8 9 0.04427 0.0001 (’1’, ’2’, ’5’, ’7’, ’14’, ’16’, ’17’, ’T’)
8 10 0.0 0.44586 (’1’, ’2’, ’5’, ’7’, ’13’, ’17’)
8 11 0.02324 0.0073 (’1’, ’2’, ’3’, ’4’, ’5’, ’7’, ’9’, ’10’, ’12’, ’14’, ’16’, ’17’, ’T’)
8 12 0.02739 0.0025 (’1’, ’2’, ’5’, ’7’, ’9’, ’11’, ’16’, ’17’, ’T’)
8 13 0.00949 0.12159 (’1’, ’2’, ’5’, ’7’, ’9’, ’12’, ’15’, ’17’, ’T’)
8 14 0.03362 0.0006 (’1’, ’2’, ’4’, ’5’, ’7’, ’9’, ’11’, ’13’, ’15’, ’16’, ’17’, ’T’)
8 15 0.0 0.44766 (’2’, ’3’, ’7’, ’10’, ’12’, ’13’, ’14’, ’16’)
8 16 0.01049 0.10379 (’1’, ’2’, ’4’, ’5’, ’7’, ’9’, ’11’, ’12’, ’14’, ’17’, ’T’)
8 17 0.25446 0.0001 (’1’, ’2’, ’5’, ’7’, ’10’, ’T’)
8 T 0.02214 0.0099 (’1’, ’2’, ’3’, ’5’, ’7’, ’9’, ’11’, ’12’, ’13’, ’15’, ’16’, ’17’)
9 10 0.02168 0.0131 (’2’, ’7’, ’17’, ’T’)
9 11 0.02702 0.0027 (’1’, ’2’, ’3’, ’4’, ’7’, ’10’, ’12’, ’14’, ’16’, ’17’, ’T’)
9 12 0.03742 0.0007 (’1’, ’2’, ’3’, ’7’, ’11’, ’14’, ’15’, ’16’, ’17’, ’T’)
9 13 0.00837 0.14519 (’7’, ’T’)
9 14 0.07642 0.0001 (’1’, ’2’, ’7’, ’T’)
9 15 0.05177 0.0002 (’2’, ’7’, ’T’)
9 16 0.03606 0.0003 (’2’, ’7’, ’T’)
9 17 0.12288 0.0001 (’1’, ’2’, ’7’, ’10’, ’T’)
9 T 0.03808 0.0004 (’2’, ’3’, ’7’, ’11’, ’12’, ’13’, ’14’, ’15’, ’16’, ’17’)
10 11 0.00775 0.16668 (’2’, ’3’, ’7’, ’9’, ’12’, ’14’, ’16’, ’17’, ’T’)
10 12 0.0 0.46195 (’2’, ’7’, ’11’, ’13’, ’14’, ’17’, ’T’)
10 13 0.00548 0.19218 (’7’, ’15’, ’17’, ’T’)
10 14 0.0 0.41796 (’1’, ’2’, ’7’, ’9’, ’11’, ’13’, ’15’, ’17’, ’T’)
10 15 0.01342 0.05879 (’2’, ’3’, ’7’, ’9’, ’14’, ’16’, ’17’, ’T’)
10 16 0.0 0.46005 (’1’, ’3’, ’5’, ’7’, ’9’, ’11’, ’13’, ’14’, ’15’, ’17’)
10 17 0.14353 0.0001 (’2’, ’7’)
10 T 0.0 0.46185 (’1’, ’2’, ’3’, ’4’, ’6’, ’9’, ’11’, ’12’, ’15’, ’16’, ’17’)
11 12 0.07183 0.0001 (’2’, ’3’, ’5’, ’7’, ’9’, ’10’, ’14’, ’16’, ’17’, ’T’)
11 13 0.0 0.37606 (’1’, ’7’, ’12’, ’16’, ’T’)
11 14 0.03362 0.0016 (’1’, ’2’, ’3’, ’4’, ’5’, ’7’, ’9’, ’12’, ’15’, ’16’, ’17’, ’T’)
11 15 0.0 0.44006 (’2’, ’3’, ’4’, ’7’, ’9’, ’10’, ’12’, ’16’, ’17’, ’T’)
11 16 0.0437 0.0001 (’2’, ’3’, ’4’, ’5’, ’6’, ’7’, ’9’, ’12’, ’14’, ’17’, ’T’)
11 17 0.04899 0.0001 (’1’, ’2’, ’3’, ’4’, ’7’, ’8’, ’9’, ’10’, ’12’, ’13’, ’14’, ’16’, ’T’)
11 T 0.14346 0.0001 (’2’, ’3’, ’4’, ’7’, ’9’, ’10’, ’12’, ’14’, ’15’, ’16’, ’17’)
12 13 0.01897 0.0235 (’7’, ’9’, ’11’, ’15’, ’17’, ’T’)
12 14 0.00548 0.22668 (’1’, ’2’, ’3’, ’5’, ’7’, ’9’, ’11’, ’15’, ’16’, ’17’, ’T’)
12 15 0.01304 0.06869 (’2’, ’3’, ’7’, ’9’, ’11’, ’14’, ’16’, ’17’, ’T’)
12 16 0.03114 0.0017 (’2’, ’3’, ’5’, ’7’, ’9’, ’11’, ’15’, ’17’, ’T’)
12 17 0.08944 0.0001 (’1’, ’2’, ’3’, ’7’, ’8’, ’9’, ’10’, ’11’, ’14’, ’15’, ’16’, ’T’)
12 T 0.05441 0.0001 (’2’, ’3’, ’7’, ’9’, ’11’, ’15’, ’16’, ’17’)
13 14 0.0 0.42816 (’1’, ’3’, ’7’, ’9’, ’10’, ’11’, ’12’, ’15’, ’17’, ’T’)
13 15 0.03082 0.0087 (’7’, ’T’)
13 16 0.00316 0.31117 (’7’, ’T’)
13 17 0.01871 0.0226 (’1’, ’2’, ’7’, ’10’, ’12’, ’T’)
13 T 0.00447 0.25847 (’1’, ’2’, ’7’, ’11’, ’12’, ’15’)
14 15 0.06512 0.0001 (’1’, ’2’, ’3’, ’7’, ’9’, ’16’, ’T’)
14 16 0.01643 0.032 (’1’, ’2’, ’5’, ’7’, ’9’, ’11’, ’12’, ’15’, ’T’)
14 17 0.0455 0.0001 (’1’, ’2’, ’3’, ’4’, ’7’, ’8’, ’9’, ’10’, ’11’, ’12’, ’13’, ’15’, ’16’, ’T’)
14 T 0.01483 0.05129 (’1’, ’2’, ’3’, ’5’, ’7’, ’9’, ’11’, ’12’, ’13’, ’15’, ’16’, ’17’)
15 16 0.01449 0.05119 (’2’, ’3’, ’7’, ’9’, ’11’, ’12’, ’14’, ’T’)
15 17 0.01183 0.07909 (’1’, ’2’, ’3’, ’7’, ’9’, ’10’, ’12’, ’14’, ’16’, ’T’)
15 T 0.08955 0.0001 (’2’, ’3’, ’7’, ’9’, ’11’, ’12’, ’13’, ’14’, ’16’)
16 17 0.02569 0.0046 (’1’, ’2’, ’3’, ’4’, ’6’, ’7’, ’8’, ’9’, ’10’, ’11’, ’12’, ’14’, ’15’, ’T’)
16 T 0.03768 0.0006 (’1’, ’2’, ’3’, ’7’, ’9’, ’11’, ’12’, ’15’)
17 T 0.07362 0.0001 (’1’, ’2’, ’3’, ’7’, ’8’, ’9’, ’10’, ’11’, ’12’, ’13’, ’14’, ’15’, ’16’)


